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SECTION B

Answer ALL questions. Write your answers in the spaces provided. g9
L)

1 InJune Gemma paid £68 for her electricity.
In July she will pay 5% more for her electricity.

4 )
Work out how much Gemma will pay for her electricity in July.
(3)
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(Total for Question 1 is 3 marks)
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2 The table gives some information about the number of visits to a gym last month.

number of visits tally frequency

1-5 HITHIT
6-10 HTHIT HIT HIT T HTHITHT L]
11-15 HTHT HTHI |

more than 15 Hﬂ Hﬂ‘
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(a) Complete the frequency column.
(1)

4 N
(b) On the grid, draw a suitable graph for this information.

(3)
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(Total for Question 2 is 4 marks)
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~\
Alfie sells flooring for playgrounds.
He has this diagram of a playground.
O u
P 15m ‘ R o
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9m 3m lawn R SR
4 .
B LA
\ 5
The playground is rectangular 9m by 15m.
The lawn is rectangular 3m by 4m.
Alfie will put flooring on all the space inside the playground but not on the lawn.
The flooring costs £36 per square metre.
4 N

Work out the total cost of the flooring.
(5)
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(Total for Question 3 is 5 marks)
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4 Josh is designing gift boxes.
He designs these boxes.
9 = gD
Josh needs to know the shape of the boxes from different views.
shape 1 shape 2 shape 3 shape 4
Place the correct numbers in the space to complete the sentences.
(@) Shape ... is the plan view of the cylinder. (1)
-
(b) Shape ... is the front view of the triangular prism. (1)
\_
(
(c) The triangular based pyramid has ... faces, .. edges and
.......................................... vertices. (1)
\_
(Total for Question 4 is 3 marks)
L
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5 Kate has this information about the total monthly sales for a shop in 2018

170
160
150
140
130
120
110
100
90
80
70
60
50
40
30
20
10

Total sales
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Jan Feb Mar Apr May Jun Jul Aug Sep Oct Nov Dec
Months

Kate needs to put this information in a table.
The table must show the total sales for each quarter of the year.

Jan to Mar)
Apr to Jun)
Jul to Sep)

Oct to Dec)

quarter 1
quarter 2
quarter 3
quarter 4
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( )
Draw and complete a suitable table for Kate.

s B (3)
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(Total for Question 5 is 3 marks)
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6 Karen is a cake designer.

She is designing different shaped cakes.

AB and BC are two sides of a parallelogram.

(@) On the grid, complete the parallelogram.

(1)

Here is a regular pentagon.

(b) Draw all the lines of symmetry on this pentagon.

(1)

Here is a regular hexagon.

s

(c) What type of angle is angle x?
Tick the correct answer.

(1)

right angle

acute angle reflex angle

obtuse angle
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Karen is making a birthday cake.

The top of the cake needs to be triangular with one side length 10cm, one side
length 12cm and a 90° angle between these sides.

s

2ch

(d) Draw the top of the cake for Karen.
Use the grid below to draw the top of the cake.

2cm
<>

(3)

(Total for Question 6 is 6 marks)
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7 Daniel has these test results
public services 46% maths 14 English 13 art and design i
25 20 10
His tutor wants to compare these results.
[
List the subjects in order from his best result to his worst result.
Show why you think this. (3)
\_
(Total for Question 7 is 3 marks)
L
10
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( )
8 ~
(@) Write 6_30 as a fraction in its simplest form. .
- J
A group of dancers raised some money for a charity.
Here is some information about the money raised.
mone();-;'aised number of dancers
4.99 or less 15
5109.99 23
10 to 14.99 12
15 to 19.99 7
20 to 24.99 3
total 60
One of the dancers is chosen at random to give the money raised to the charity.
((b) What is the probability that this dancer raised less than £10? b
(2)
- J
(Total for Question 8 is 3 marks) )
1
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length in cm
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9 Joanne is buying a pair of shoes in Europe.
The length of her foot is 27.5cm.

J

e

N

length of foot
ininches

~

Joanne uses these rules to work out her European shoe size.

J

4 2\ 4
> +25 >
N ) N
4 2\ 4
> x 3 >
N J N

length in inches

Joanne thinks her European shoe size is 38

+8

European shoe
size

s

Is Joanne correct?

Show why you think this.

(4)

(Total for Question 9 is 4 marks)
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10 Sarah has a snack at work each day.

She has this information about the snacks she had last week.

day Mon Tue Wed Thu Fri

snack banana chocolate biscuit cake crisps

number of calories 105 260 49 257 234

Sarah thinks the mean number of calories in these snacks is more than 200

V3UY SIHL NI ILIM LON 0Q
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Is she correct?
Show why you think this. (3)
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(Total for Question 10 is 3 marks)
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11 Aliis preparing for a race.
He runs laps around a football pitch to prepare for the race.

The length of each lap is the total distance along the four edges of the pitch.

90 m

A
A\

pitch 75m

V3V SIHLNI SLIM LON 0d

Ali needs to run at least 10 km.

-
(@) What is the minimum number of complete laps Ali should run?

(4)

14
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N
(b) Show a check of your answer.
(1)
J
(Total for Question 11 is 5 marks)
TOTAL FOR SECTION B =42 MARKS
TOTAL FOR PAPER =56 MARKS
15
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